data
QJ‘”’(’SH@“ L. (7{‘3/)- W oa s bakiskieal weoded .
@) What w meant ’)a S‘o\wmﬁ YaYx) v & mA"v(th"
doka tedmekion ?
\ASV\M MO Lo S % was o, real doka
fromm o wmpowovw\e,!s&c_ {M&\La ’{f&.g erdan slakishies
were wok W;‘A%uww Complile ko This v st
Mssokm%;%ww we wed deer vt
6;(-\&«\0(&“0 2 WPMMHL «fowwu Les |
(b) Explain waith 1 (™ Mmmg foumilies & Po\;r&«k
i budkirms o B lead & coupletinas 4 the oo
Sakisbies (XU)) ~~~)Xm\> w wd SWM, T4 s pess'da((
Rok gown Amswrens My J.LMA en the ‘YMPA‘- q{3¢ "
G) izcm\?\';ms e e dishibwbiows  with kwewn
cmdbin 8 c,ofmwxe\—»a o, ‘g |
i) 9 combinmons Aishbmbions witk R
mediom Do

D) T combimons distibubions witk o contes 3 pwemeby |

Onastiem . \'L\,..)\kn"’i\'& wnar £ [e»\)e‘\ , Bethy, n22

CO*)C'#(J(A;\\A bﬂ\de\,u, ‘(’")@Q v A LcuuHM rf:m'»\v.) »dlo\o\km‘)e'\«tu
Scah/fw»% . |

(5 Shews ek (Ugy Uens) @ pulficiomk bk st cowpals -

123 Fhaws Sk (U & Uiz i nole sk

@A) Show bk W 4 wob UMVRE fol &




(:) DQQWQ Wk ¢ meowk( p (emlnfwwnlrh §oq wtnel sl,
pies (A - |
ey Pove \’Q«» &ﬂlo\mvxj (—fm'tRM) Hcorerm. (e loss {\mwm ;3
" “ Fir )
"Lk (,A—M\ ke a SZO‘/M(,L 56 T«/’\ﬂs wn Mrwk\;j »
'Msé\)wrﬁwﬁs Mlag O > . Lek B he “
. R (8\ = v o, Hem S miniwmay.
& ©
).bvd wo weed 0 TMJ'V'G Ml
Ne weed Hhis Hhercom do parvt mininaaxily 8 X Wt
X\\ ..‘,\L.,\ ~ud d\r(f)/ q—") w B Sa‘ww\-@(" evvos loss, Tha M
FRYSTRYY N M{&a»ﬂm& w tat wt wseded b rechact e

1

() v\ﬂNaL? i
(S Shw with a rmodifred less frmekion L{d, ) * ___O_E.. )

e weed {a-(’r(’mt be.qw% qots amros pmd s
Miw3 a ymo\,\k mozCL(ACoJ'\B\ -%fed. wﬂ«\wai'— w(..iawd)
T\&bt/i-\ L ewned A_jMV\., W\lema?g . |

Queshiom T Xy, ., % WAE
©

&-\
@ Fond o ARLNE 7 tha meoun s te medsan fov this pdtie

Now chomge £, - A

6-1 & B4
. IR

e



(b Shew Hrod e mediom is no (oma,w I - eonmstat .

() Wank (s b omsistenoy ke ] |

N What s s weak_ Lot (bm\-\wj A(SMMN)(M%\

W&,JyQQ \‘—e.cho}f\w]B—?.

() Whidh s te A% MPMCM P«L%MXQ ettt woe
The Sww.‘vb. walown O Ha So\m(vl’_g @A A 9

Owoskion N - Cowsidun A rﬂd««(aw av\z,f?mowwc}&« Jdee Ul
lewn, v shivaaking © € R .

@ Shake the Hegiom ow dficienk L
(No natd bo S‘vtll ok dae mod.\lw;d«'j arwdifions P«Ld&’—q}v

(b) Explain briefly dmd withont techwealitn ko ¥ can
‘/‘-wnwm ok W sea‘mq sk ELE’s ‘ch.f wot b
Shsenvakite (e S—\’a&ﬁcs).

(&) Wove ok ' thne v & LonsSkank estimakt Sn £
e Yommet € PN\ i P«'t_k e cosk é“ (From e
cotk sek g the Lbelhod equnkion ) chosest 4o n
then (g“\ 6 o~ ELE Sath v ﬂy%wlr’ia .

o ko rd €5t maden (i),



Problem 1. Let X;,..., X, beiid. from the gamma distribution I'(g, b), which has density
flz) = Clg; b, >0,
where C(g,b) is a normalizing constant. Note that g,b > 0.

Find a UMP level « test (if it exists) in the following two situations:
|0 (a) H:b< by versus K : b > by, and g is known. ¢ '
|0 (b) H: g < go versus K : g > go, and b is known. P

Be as specific as you can.

Problem 2. Consider the following distributions on {1,...,5}:

1|12 |3 ]| 4|5
P 103]02]03]0.1]0.1
P,102|02(01({04]0.1
Q@ [02{00)03(02]0.3

We want to test { P, P2} versus Q.
é 1. Find an MP test at level o = 0.05. Is it unique?

0 2. Find an MP test at level = 0.15. Is it unique?
lO 3. Find an MP test at level @ = 0.50. Is it unique?
tg 4. Ts there a level o for which the MP test not unique? Justify your answer.
Below is a plot of
iy

T (1= X)P(z) + A\Py(2)
Each line corresponds to Ly(z) as A varies from 0 to 1, for each z = 1,2, 3,4, 5.
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